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CBOMCTBA U NPMMEHEHNd TDUTOHOMEeTPUUCCKUX
YHEUUA

1. Brmmmwmre TOXIECTBA:
sina +cosa =1

2 2
sin“oa +cos”a =0;

tga -ctga =1.
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2. YmpocTuts Bblpaxkenue: [$& Cl8% —sin-a.
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3. Berumcouts SIN75

4. 3Has, uyto Sina +cosa =0.8  yajity 3HAueHME

BBIpaXEeHHs] SIN& - COSA

5. HaliTu 3HaueHue BbIPAXKEHUS:

sin’ a s cos’a
1-3V5 1435y a =45,

1.BeIMUIIIATE TOXKICCTBA:
sina —cos’ o =1;
sin“a +cos’o =1;
tga -ctgo = —1.
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2.YIpoCTHUTD BhIpaKEHHE: 1-cos’a-iga-ciga.
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3. Berumcauts €0S157

tga +ctgo =2

4. 3Hasg, YTO HaiTH 3HaYEHHE

2 2
Bolpakenns 8 & TCE A

5. HaliTu 3HaueHue BbIPAXKEHUS:

sin’ a ~ cos’ o
2341 243-1 oy a=30"




